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x 11.8 + 11.8 +...+ 12.45 = 181.3 = QJ oou&
15 15

$ = (11.8 - 12.1)2  + (11.8 - 12.1)2  +...+ (12.4 - 12.1)2
15 - 1

= ss = 0.04 (PJ,oud)
14

s = 0.2 (wmd)”

Ho = p = 12.0 Elowd

Ha = /.L  # 12.0 mu4

A
-2.14 2.14
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Ha : I+  > p2 (VT% F,  - p2 > 0)

dIW?J  a = 0.025 , Z, = 1.96

s
(5.6)’

= -
x, -“,

J
80

+ w2- = J.3920 = 0.90
64
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Z
= G, -X2)  -(WI  - $1

sx,  -t$
= (70.50 - 68.8) - 0

.90

= 1 . 7 0
.90

t

E (Xd  - Xd)2

n-l =
S2  zz

-'ds I in
d V

n - l
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od'fl&lMl

1

2 *
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5

6

7

8

9

10

. 54

73

49

57

vlna~ufl~4fiou xd
I5 36

21 42

20 35

36 32

12 36

9 .29

17 37

42 31

26 23

18 39

340

Xd = 34

(Xd  - fT,)  (Xd  - X,)2

2 4

8 64

1 1

- 2 4

2 4

-5 25

3 9

-3 9 :

-11 121

-5 25

_o 266

j$ = 34 ; 5; = 266 zz 29.56
10 - 1

dlPd?Jf,J  t = 34  - 3o  = -% = 2.33
,'29.56/10 1.72

P]$i%i Ho wlf~tiIU~~  t > 1.83 (tO,,s.<,)
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&kJRlFYqv&s  (Y = 0.05

%iln&d 12 3 4 s 6 7 8 Y 10 11 12---.--- __.-
WeijfldBfl x, 5 4 4 1 6 3 4 5 5 3 6 4

x,1 3 4 2 4 3 2 3 6 5 3 2
_I____-
x, = 4 1X,--XR 0 -1 2 u 2 2 -1 -2 3 2
-__

48/(12  - 1) = 48ill

~1pd-m  t = 1 - 0 1__-- = 1.67
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‘C-3 = P,-P2

-Q _ 3 =
P, (1 - P,)

"1 + p2 (k, p2)
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t =
(2, - x2) - b1 - ~2 = (23.1 - 23.7) - 0

sp,'W,)  + W,)

0.4- -  =
= 0.754

0.53
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z -= 82 100 -18=
;‘200 x .5  x .5 ,,3

= -2.55

l&l% Ho

&HlKiI  Z*  = X; = (-18/;3i))*  = 6.48 ( > (1.96)2  = 3.84)
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2
Xk-1  =

i [ (‘i  i,p”lpj2  + cx: iy’)’  ]

I I

&h&i
I

3ulimoii~ciu
(dld0) fhhdld0)

mu

1 x , = loo x ; = 20 120

flu91u 2 74 6 80

3 lo6 14 120

4 64 16 80

57aJ 344 56 400
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220 x 290 = 91  1 180 x 290 = 74,6  140 x 290
700 . ’ 700 700

= 58

220 X 370 = 116,3 180 x 370 = 95.1 140 x 370 =
700 700 700 .

74

220 x 40 = 180 x 40 = . 140 x 40 =
700

12,6
700

1o,3
700

8
.
o

40 - (12.6 + 10.3 + 8.0) = 9.1
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= 'y$??.:"  = (20)..........tifld~I  Q (21)..........~W~  II a = (20) 1.00

(21)l%ial~l~OPl~bd  '6.

(22) .......... qel?Ai~  ~~dasdQ~96u~,sWab~~~~~~~~~Q~  d . 4 H o

i?O (23) ..........

(22) a = .05

(23)~S&kJdl~~Qlfl

.8 4 a = .05

(24) t

(25) hi?

(26)b.hl~llJ

(27) 30

(28) 2.20

(29) la.hlfjaara

(30) 32.0

(31)lasmll5

(32) 2

(33) Tknh.hYn

254 ST203 (H)



(35) 1
(36) 8

(37) 1.86

(38) 1.39

(39) -.39  s pd  s

2.39 J

(40) 0.39

(41) 2.39

(42) fl-JlU66Wil~

(43) 90
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1. (5) -

5. (4)

9. (5)

13. (3)

17. (2)

21. (2)

25. (2)

29. (1)

33. (3)

37. (3)

41. (4)

45. (1)

49. (3)

53. (1)

57. (5)

61. (2)

65. (2)

69. (3)

73. (5)

77. (3)

Xl.  ( 4 )

h2aufiiglni~umt 8 - 9

2. (3) 3. (3)

6. (1) 7. (2)

10. (1) 11. (4)

14. (2) 15. (5)

18. (3) 19. (1)

22. (3) 23. (4)

26. (2) 27. (1)

30. (3) 31. (1)

34. (5) 35. (4)

38. (5) 39. (1)

42. (5) 43. (4)

46. (2) 47. (3)

50. (4) 51. (5)

54. (3) 55. (1)

58. (5) 59. (3)

62. (4) 63. (3)

66. (2) 67. (4)

70. (5) 71. (4)

74. (5) 75. (4)

78. (5) 79. (4)

82. (1)

4. (2)

8. (2)

12. (1)

16. (4)

20. (3)

24. (2)

28. (3)

32. (1)

36. (2)

40. (2)

44. (1)

48. (2)

52. (2)

$6. (5)

60. (1)

64. (2)

68. (2)

72. (1)

76. (2)

80. (5)
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1 REAL,E(3,4).ROW(3),CoL(J),DIFF

2 INTEGER N~TOT,R,C,I.J,N(3,4).0,f’~Q,S

3 READ, R,C,NTOT

4 DO2 J = l.R

5 ROW(I) = 0.0

6 DO 1 J=l,C

7 READ, N(J,J)

8 ROW(J) = ROW(I) + N(i,J)

9 1 CONTINUE

IO 2 CONTINUE

11 DO60=  1,c

1 2 COL(0) = 0.0

13 DO 5 S = 1,R

1 4 COL(0) = COL(0) + N(S,O)

15 5 CONTINUE

1 6 6 CONTINUE

1 7 CHISQ = 0.0

1 8 DIFF = 0.0

1 9 D09P=  1,R

20 DOSQ  = 1,C

21 E(P,Q) = (ROW(P) * COL(Q))  / NTOT

22 PRINT, E(P,Q)
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